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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 966231451
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9662319853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorme letters are numbered as 1, 2, 3, 4, 5 and 6. In the options, four possible arrangements of these numbers
are given. Choose the option so that the letters form a meaningful word.

TEFCOK
122456

Options:

1. % £53421
2. ¥ 354621
3. % 153625

4 % 324561

Question Number : 1 Question Id : 9662319853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T SR AT 1,2,3,4,5 ¢ 6 Wi fog My ) fwent # 5 deelt it = eviiae e & ¥ 99 fwen @1 aee w
TTIeF ST5% UF arfa dMeg o aan

TEFCOK
122456

Options:

1. % 553421
2. ¥ 3546821
2. % 153625

4. % 324561

Question Number : 2 Question Id : 9662319854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are simmilar in a certain manner. However, one option is MOT like the other three,
Select the option which is different from the rest.

Options:

1. % PLT
2 ¥ MG
2. % FE]
4 % MR

Question Number : 2 Question Id : 9662319854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % PLT
z ¥ MG
2. % FE]
4 % MR

Question Number : 3 Question Id : 9662319855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manmner. However, one option is MNOT like the other three.
Select the option which is different from the rest.

Options:

1. % Manipur
2. % [tanagar
2. % Dispur
4. % Kohima

Question Number : 3 Question Id : 9662319855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qrr%ﬁfﬁﬁﬁﬁ A1 e ST Ji | A 5 BT, U dwed S0 d 1 1 d9g el ol 96 e &1 oo ot ol st o
STET

Options:

1. ¢ ity
2 ® i
3 % foagw
4. % AT

Question Number : 4 Question Id : 9662319856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first
TermmL

THE : WEH :: FMD : 7

Options:
1. % BL]

2. % REM
3. ¥ 3]G
4. ® SPG

Question Number : 4 Question Id : 9662319856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 oo T 2 B ST S 1 U & I W | Tl e W UgE uE g U o HellHd gl

THE : WEH : PMD ;7
Options:



1. ® BLJ]
2. % REM
3. ¥ 5]G
4 % SPG

Question Number : 5 Question Id : 9662319857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If in a certain code language AEC means Party is amazing, DEC means amazing and fun, DF means fun
loving, then what is the code for 'AND'?

Options:
1. % C
2. % E
%D
4 ¥ E

Question Number : 5 Question Id : 9662319857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i ua T ®ig amr 8, ABC @7 arf £ Party is amazing, DEC &7 &1 § amazing and fun, DF &7 28 fun loving &, a1
'AIND & Tl g 727 57

Options:
1. % C
2. % E
%D
4 ¥ E

Question Number : 6 Question Id : 9662319858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 96431 is coded as 42110 then what will E5327 be coded 357

Options:

1. % 5E9B2
2. ¥ 11008
3% 20644

4 % 13658

Question Number : 6 Question Id : 9662319858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I 96431 FT 42110 &F = § FIT2q TFar A@T S, 91 65327 F1 e HITST T F?

Options:

1. % LE982
=z ¥ 11008
3% 20644
4 % 13658

Question Number : 7 Question Id : 9662319859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

There are five friends - Seerma, Krishna, Mansi, Ashi and Reema. Seerna is shorter than Krishna, but taller than
Feemma. Mansi is the tallest. Ashi is a little shorter than Krishna and little taller than Seema. Who is the shortest
armong all?

Options:

1. % Ashi
2. ¥ Reerma
2. % Seema

4. % Erishna

Question Number : 7 Question Id : 9662319859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ur= 7 § - | ., HTFT, TS S T H T AT 5, ciieh CIHT & dail a1 AR Fai wail 51 AT FO0T T ST T
SfT AT ST wHell B 5 | g A w3 87

Options:

1. % st

= & T
3. # dimr
4, % g

Question Number : 8 Question Id : 9662319860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the given statement and conclusions carefully. Assurming that the information in the statement is true,
everl if they appear to be in variance with commeonly known facts, select which of the conclusions logically
followr(s) from the statement beyond reasonable doubt.

Statermnents: -
I. All cars are truclks,
II. Some trucks are buses,

COnclusions: -
[. &l buses are cars.
I[[. Some Ccars are trucls,

Options:

1. # Only Conclusion [ follows.

2. % Only Conclusion 1T follows.,

2. ¥ DMeither of the conclusion follows.
4 % Both [ and II follows

Question Number : 8 Question Id : 9662319860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % e Twepy I ST e #eaT gl
2 % et Tomad 11 SIgER FaT gl
3. ¢ g T ] arge TRt wa
4 % 1 31l ST SgER T 2]

Question Number : 9 Question Id : 9662319861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

1. % 125
2. % 275
3. ¥ 435
4 % L2G

Question Number : 9 Question Id : 9662319861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 125
2. % 3275
3. ¥ 435
4 % 2L

Question Number : 10 Question Id : 9662319862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that 1s related to the third nurnber on the same basis as the second number 15 related to the
first nurmber.

014 -7143 0177
Options:

1. % 5 B&2

2. % 5124

3. ¥ -5 8R2

4 % -5 124



Question Number : 10 Question Id : 9662319862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 Terpe T e e ST o T ST F FH HET | Heled § R T e S Uge | ST § et )

014 -7.142 0177
Options:

1. % 5882

2 % L5124

3. ¥ -5 BE82

4 % -5 124

Question Number : 11 Question Id : 9662319863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two signs should be interchanged to make the below equaticon mathernatically correct?

T-Z4+12+2xd=23
Options:
1. % - =

o %4 -
3% oW, =

4 ¥ - %

Question Number : 11 Question Id : 9662319863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et TarT T ST o O 0 & AR e o oy T o el @ e S T AT Aiia

F-34+12+2x4=22
Options:
1% -, =

o % 4 -
W oW -
4 ¥ - x

Question Number : 12 Question Id : 9662319864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two nurmbers should be interchanged to make the below equation mathematically correct?

F+1l6+-4=x3-5=10
Options:

1. % 7,3

2 % 3.5

3.¥ 7,5

4 % 4 5

Question Number : 12 Question Id : 9662319864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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F+1le+-4=x2-5=10
Options:

1. % 7,3

2. % 2,5

3.¥ 7.5

4 % 4 5

Question Number : 13 Question Id : 9662319865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing number in the following number series.

Options:
1.%0
z 1
3% 2
4 % -1

Question Number : 13 Question Id : 9662319865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrRTeTRET ST St | TR HEdT AT H

-12, -G
Options:
1.%0
2 ¥ 1
3w 2
4 % -1

g, 13

4 ————

Question Number : 14 Question Id : 9662319866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two numbers are 40% and 0% respectively more than a third number. What is the ratio of first number is to
second nurnber?y

Options:
1. % 23
= ¥ 78
3% 87
4 % 5B

Question Number : 14 Question Id : 9662319866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

S HEAT U o (T T § FHT 40% ¥ S0% SITed § Uge| Sl B ger | §edqT 9 SquTd 741 57
Options:

1. % 23



2. ¥ 78
3% 87
4 ® 5

Question Number : 15 Question Id : 9662319867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the f-:}ll-::-wing Venrn diagrams baest represents the relationship betweern stars, planets and rmoons?
Options:

7N ‘_\

] W £

LRI

1 ®

Question Number : 15 Question Id : 9662319867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T o T FT G o g At met i sigwTert I i I e @ Had sRET Taiar 87

Options:

90

1 ®

4 # N

Question Number : 16 Question Id : 9662319868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& person walls 6 ki towards north, then turns towards west and wallks = kan, He then turns left and walks 4
kim, and then again turns left and walks for 2 k. Where is he standing now with respect to the starting point.

Options:



1. % 2 kmnorth
2. % 2 km south
3. % 4 kmnorth
4. % 4 km south

Question Number : 16 Question Id : 9662319868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e 2T e o ST 6 by Terd 1 %, T Oier ol ST B2 a1 & 8i 3 kamy T g1 o O S0 S g2aT § &1 4 kan =e0dT g, S
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Options:

1.9 2 km &

= % 2l ZiEm
2 % 4lm T

4. % 4 kn ZrEm

Question Number : 17 Question Id : 9662319869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following cubes in the answer figure CANMNOT be made based on the unfolded cube in the
question figure?




Question Number : 17 Question Id : 9662319869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IO AT H T O WU SF IS H e T o ST U A5 &l A7 Gl 57
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Options:

Question Number : 18 Question Id : 9662319870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

e
J
LA

D>
N @
., x|><4d




N <
APV
S >y

viav
Y

L
L% |ASA

Question Number : 18 Question Id : 9662319870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
th?
GE]D

VAN
D B4
N

, % |><4d
N <
APV

S >y
viav

£
L
. x| ANA

Question Number : 19 Question Id : 9662319871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which answer figure will complete the pattern in the question figure?

Options:



Question Number : 19 Question Id : 9662319871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I HI IO ATFIT 0 AT+ H Joed 1 T BT

Options:




Question Number : 20 Question Id : 9662319872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a rmirror is placed on the line MM, then which of the answer figures will be the right mirror image of the
given figure?

O N

M
Options:
[7
O
1 ®

Q 4

L5 VO

Question Number : 20 Question Id : 9662319872 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

L
O
1 ®
2 " N O
Q 4
3 ¢
4 ® O
General Awarerness
Group Number : 2
Group Id: 966231285
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Awarensss
Section Id : 966231400
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pane: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 966231452



Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9662319873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the following states Margamkali dance is associated?

Options:

1. % Madhva Fradesh
2. # Rajasthan

3. % Assam

4 ¥ Kerala

Question Number : 21 Question Id : 9662319873 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WS o FHieiEd & Tohe T4 & | 21 57

Options:

1. % maued
Z TR
3. % s@RE

4. A

Question Number : 22 Question Id : 9662319874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sohar folk music is related to which of the following state?

Options:

1. % Himachal Pradesh
2. % Madhva Pradesh

3. % Jarmrru and Kashrmir
4 % Bihar

Question Number : 22 Question Id : 9662319874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Higt Al GiT HgieEd § 9 g =g 9§ gatad 27

Options:

1. % U= ng
. % mrues

3. % S o WA

4. ¢ g

Question Number : 23 Question Id : 9662319875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Jalliakattu, in which cattles are worshipped, is associated with which of the following states?

Options:
1. % Tarmil Madu
2 % Himachal Pradesh



Z. = Andhra Pradesh

4. % Gog

Question Number : 23 Question Id : 9662319875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

eeiing, ToreH Tsit &t o bt AT 8, TergieeEd H & T T o R e 27
Options:

1. ¢ gina 1

2. % e nda

2 % o udd

4 & TEr

Question Number : 24 Question Id : 9662319876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 1969, how marny private banks were nationalised?

Options:
1. % 10
2 % 12
3% 14
4 % g

Question Number : 24 Question Id : 9662319876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 1969 H orae ==t <t @ ag e frr e

Options:
1. % 10
2. 0% 12
3.9 14
4 % 7

Question Number : 25 Question Id : 9662319877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
15 a tax imnposad on manufacturad goods which is levied at the tirme of manufacture, rather than

Options:

1. ¥ Excise tax

2. % Income tax
= VAT

4 % Custorn duty

Question Number : 25 Question Id : 9662319877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TfHa gt ot FTaT A ST g A1 ek & aere Femior 3 | wmer ST R

Options:



1. & IoaTg e
2. % T

3 % gogaidd @
4 % T g7w

Question Number : 26 Question Id : 9662319878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the 5.1, unit of electric current?

Options:

1. % joule
2. % pascal
3. % newton

4.9 ampere

Question Number : 26 Question Id : 9662319878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T yRT T 5.1 5T T 27
Options:

1%

| 2T

3. % A
4 ginew

Question Number : 27 Question Id : 9662319879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following enzymes converts starch to soluble sugars?

Options:

1. % Betaine Enzyme

2. % Proteolytic Enzyme
3. ¥ Amylase Enzyme
4. % Bromelain Enzyme

Question Number : 27 Question Id : 9662319879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT H & 1 |1 USTEH 0 (T2 BT Yeraie e # Tieatdd #ear 57
Options:

1. ® R UaEd

2. ® pifteieis gaEa

3. ' UATEe USTEH

4 % FE U

Question Number : 28 Question Id : 9662319880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which country does not form a part of the Middle East?



Options:

1. % Iran

= % Yermen
3. % Egvpt
4. % Panara

Question Number : 28 Question Id : 9662319880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I T 9 e U T [5edT Aai a-a77
Options:

1. % 09

2 % I

z R T

4 ¥ T

Question Number : 29 Question Id : 9662319881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following states is the Supa Dam located?

Options:

1. % Karnataka
= % Assam

3. % Maharashtra

4. % Gujarat

Question Number : 29 Question Id : 9662319881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
quT ave TeEierEd § e e | e g
Options:

1. ¢ Ffew

2. ® amA

3. % W

4 ® TERIT

Question Number : 30 Question Id : 9662319882 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following mountain ranges is located in Australia?

Options:

1. ¥ The Alps

2. % The Rockies

2. ¥ The Great Dividing Range
4. % Drakenshurg

Question Number : 30 Question Id : 9662319882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % e

o ® ZH

3 T EEEEn e

4 & e

Question Number : 31 Question Id : 9662319883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who found the new face of the Indian Independence League in 1942 in Tokyo?

Options:

1. % Subash Chandra Eose
2. % Jawamharlal Nehru

2. % Mohan Singh

4. % Rash Behari Bose

Question Number : 31 Question Id : 9662319883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1942 o ZiFar § A 1 Tad 371 o007 ®T 747 25T o Te ar?

Options:

1. % 7w og e
2. % FATATA J5E
3 % g fig

4. TEEET A

Question Number : 32 Question Id : 9662319884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
who was the last king of the Nanda Dynasty?

Options:

1. ¥ Dhana Manda

2. % Mahapadma Nanda
3. #* Kaivarta Manda

4. % Panduka Nanda

Question Number : 32 Question Id : 9662319884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=g F4T T SR T B ar?
Options:

1. ¢ AT Hg

o ® mEmRAg

2 ¥ Fad Ag

4 % gizET AT

Question Number : 33 Question Id : 9662319885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The famous Bibi ka Magbara in Aurangabad was built by

Options:

1. % MNur Jaharn
2. % Shah Jahan
3. % Jahangir

4 % Azam Shah

Question Number : 33 Question Id : 9662319885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TS, T Wit ol T Aghelel __________ ST ST T 4

Options:

1. % qxgr
2. ® o gt
2 ® FEiiR

4. ¥ TS g

Question Number : 34 Question Id : 9662319886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was World Trade Organisation (WTC) established?

Options:

1. % 1997
2 ¥ 1995
3. % 1998

4. % 1990

Question Number : 34 Question Id : 9662319886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tebser SaTUTE |aT (WTO) T ST el 38 off7

Options:

1. % 1997
= ¥ 1995
3. % 1998
4. % 1990

Question Number : 35 Question Id : 9662319887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 which year was the Padma Avward started?

Options:
1. % 1350

2. ¥ 1954
3. % 1952
4 % 1953



Question Number : 35 Question Id : 9662319887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
] QR o A 1 g T mar gt

Options:

1. % 1950
2 ¥ 1954
3. % 1952
4 % 1953

Question Number : 36 Question Id : 9662319888 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With which of the folln:nwing amendrnents was Pondicherry incorporated into the Union of India?

Options:
1.9 14
z % 21
3. % 13
4 % 12

Question Number : 36 Question Id : 9662319888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT H & T Faee & we qggel @ e o H i T e ar

Options:
1.9 14
2 % 21
3. % 13
4 % 12

Question Number : 37 Question Id : 9662319889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The method of election of the president in Indian Cornstitution is borrowed from the constitution of

Options:

1. ® France
2 ® USSR
3. % Britain
4. ¥ Ireland

Question Number : 37 Question Id : 9662319889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

W Sl § g o e dht fefer ________ o T | ST TS )
Options:

1. % we

2. % [IESTT AR ToE AT F T

3 ® fEe

4 ¥ ATHE



Question Number : 38 Question Id : 9662319890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ________ schedule of the Indian Constitution contains provisions for the allocation of seats in the Council
of States.

Options:

1. % Third
2. % Fourth
3. ¥ Tenth
4. % Ninth

Question Number : 38 Question Id : 9662319890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

WTCA T |ieremT & ________ T | Tl @t ufoeg, o €l % snae- & Wiee gl
Options:

1. % dracr

2 ¥ ot

3 % gEdr

4 % It

Question Number : 39 Question Id : 9662319891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following tearns was the first one to win the Hockey World Cup?

Options:

1. %® India

Z % South Africa
3. # England

4. ¥ Pakistan

Question Number : 39 Question Id : 9662319891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T # | B G S g o 0 Sia - aTe T uger 2 2t

Options:

1. % 9N

2. % ZTET Skl
3. ® TEE

4. ¥ giferea

Question Number : 40 Question Id : 9662319892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho among the following bowlers have taken the most wickets in their career during test matches?

Options:
1. % Al Kurrible

2. % Shane Warne



2. % Dale Stevn
4 % M. Muralitharan

Question Number : 40 Question Id : 9662319892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e o & e tgam = der fof & SR o sier o ot e Ty 87

Options:

1. % T drefet

o % ggaH

3 % ZAwA

4, gIAT gRATERA

Arithmetic Ability

Group Number : 3
Group Id: 966231286
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrnetic Ability

Section Id : 966231401

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231453
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9662319893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
To fill a bucket, 25 mugs of water is required. How many mugs of water will be required to fill the bucket if the
capacity of the mug is reduced to two-fifth of its present?

Options:



1. % 50
2 ® E75
3. %60
4 ¥ B2 5

Question Number : 41 Question Id : 9662319893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T aee e o T 25 AT OT1 T STIeaeaT gid 1 5 Aie AT T 4TAdT S9a Jd AT 04T & S1- JeT-Ui=e 5o I &0 & of
AT T Aleal AT o Tl Tefd= AT 01T 7 STTaaerar giir?

Options:
1. % 50
2 % L7S
2% B0
4 ¥ B2 5

Question Number : 42 Question Id : 9662319894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 the least number that should be added to 2560 50 that the sum 15 exactly divisible by 2, 5, 8 and 157

Options:
1. % 40
2. % B0
3. ¥ B0
4 % 100

Question Number : 42 Question Id : 9662319894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2560 H HIE! Had TIET @1 @ AIST AFT ey aiiF I 3, 5, 8 & 15 & qiaar = g7

Options:
1. % 40
2. % G0
3. ¥ B0
4. % 100

Question Number : 43 Question Id : 9662319895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 12571 25 = 12 5(=, then what is the value of =7

Options:

1. % 00125
2. % 125
3.9 0125
4 % 125

Question Number : 43 Question Id : 9662319895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



afg 125/1.25 = 12.5/x &, T x & rg 747 57
Options:

1. % 00125

o ® 125

3 ¥ 0125

4 ® 125

Question Number : 44 Question Id : 9662319896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the first 20 overs of a game, the run rate was &.2, what should be the run rate in the next 30 overs to reach
the target of 360 runs?

Options:

1. ¥ 787
2 % 7EB
3% 792

4 % 502

Question Number : 44 Question Id : 9662319896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el o Ugel 20 STERT H, TT 4T 6.2 4T, 360 T & 47 T0 g & T6T ST 30 Sfiad! # T ¥ @i g1 aigu?

Options:

1. ¥ 787
2. % 7EE6
3% 7Oz
4 % Z02

Question Number : 45 Question Id : 9662319897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The marked price of an article is Rs. 1500, After allowing a certain discount, it is sold at Rs. 1320, Find the
discournt percentage?

Options:

1. % 10 percent
2. % 12 percent
3. ¥ 15 percent

4. % 15 percent

Question Number : 45 Question Id : 9662319897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e o @1 R ®Ad 1500 504 31 Ua Wi g¢ & o o, 30 1320 30 # Sl AT g1 g Hid 9 J7d @7

Options:

1. % 10 ufdeT
2. % 12 uide
3. ¥ 15 UideT
4. % 15 nideT



Question Number : 46 Question Id : 9662319898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A student scores 92% i1 an exarunation. His scores were 59, 99, 88, 92 1n 4 subjects. Find his score in the Sth
subject.

Options:
1. % 94
2. % 96
3.9 a2
4. % 100

Question Number : 46 Question Id : 9662319898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T TErET | 92% &7 0TH a7 51 4 T&wat § 399 2w 89, 99, 58, 92 91 S o Hvg # 399 &/ J1F F

Options:
1. % 94
2. % 96
3. ¥ 92
4 % 100

Question Number : 47 Question Id : 9662319899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& batsman scored 90 runs in a cricket match. He hit 10 fours and 5 sixes during his innings. What percent of
his runs was scored in boundaries?

Options:

1. % 7777 percent
2. % LG5 5E percent
3. % BE.ET percent
4. % 53 33 percent

Question Number : 47 Question Id : 9662319899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T arctdl o e Tehere Bl § 90 79 9910 Iegi ST g1t & 2109 10 =ier 3T 5 T @ 390 [ra - nidad o |Anart # 47

Options:
1. ¥ 77.77 uided

= ® £t ot gida
3 ¥ GE.ET UldeT
4 ¥ 3333 0idaT

Question Number : 48 Question Id : 9662319900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ bought goods worth BEs. 500, He gets a rebate of 8% on it. After getting the rebate, he pavys sales tax @ 12.5%.
Wwhat is the final amount that he has to pay?

Options:

1. % Es E12



2. % Hs 515
3. ¥ Rs 5175
4 % Hs 520

Question Number : 48 Question Id : 9662319900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ T 500 T T AN N 39 39 W 8% @1 g2 Oed T 81 % e & 91, a5 12.5% W Teehl # &1 ga 9dT a1 og dw
ARTIET T & ToIeRT 38 T T 57 &« ®

Options:

1. % 512 =g
2. % 515w
3. ¥ 5175
4, % 50w

Question Number : 49 Question Id : 9662319901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If an article was bought for Bs. 800 and a repairing charge of Rs. 50 was paid for it and it is supposed to be
sold at a profit of 25% on the marked price which is 50% added on the cost price. Find the required selling
price.

Options:

1. % Rs 1593.75
2. % Rs 1573.75
2. % Rs 167325
4 % Rs 1623.25

Question Number : 49 Question Id : 9662319901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

At U aeq 200 F02r § GEIgT M8 &1 SHr TOFAT o 1o S0 T 21T 1oy T &I 5 Siferd G U 25% o o U sl JHT 9
T, ST AT g & 50% Siféd g1 seede o g 31 @1

Options:

1. % 159375 #y2r
o % 157375 w0
3 % 1673.25 w0

4 ® 1623 25 w03

Question Number : 50 Question Id : 9662319902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& school has 800 students with the ratio of boys: girls being 2:2. 400 new students were given admission and
the ratio changed to 12:7. Find the number of bovs who had taken admission.

Options:

1. % 200
2. % 320
3% 2B0
4 % 350



Question Number : 50 Question Id : 9662319902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T o ezl o Aeiral & 3:2 & aquid ¥ 800 513 81 400 A7 5731 & werer T wa o 9% arguid agad] 13:7 5 T
ma?aﬁfﬁrﬂwmaﬁ Toteg I= Tretar Toram am

Options:

1.9 300
2. % 320
3. % 280

4 % 350

Question Number : 51 Question Id : 9662319903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& and B together have BEs. 2000 If 2/2 of A's amount is equal to 49 of B's amount, how much does B have?

Options:

1. % Rs 1200
2. % Rs 1500
3. ¥ Rs 1800
4 % Rs 1950

Question Number : 51 Question Id : 9662319903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A ST E & U AT 3000 20 31 Oig A & oIS T 23 ANTE 9 = & 49 90 & ST £, 91 E o UTE AT w0 g7

Options:

1. % 1200 o
2. % 1500 ¥
Z ¥ 1800 70

4 ® 1950 w0

Question Number : 52 Question Id : 9662319904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two nurmbers are in the ratio 2:3, 10 is subtracted from each of the numbers and the ratio becormes 3:5. Find
the bigger nurmber.

Options:
1. % 20
= ¥ B0
3% 40
4 % 20

Question Number : 52 Question Id : 9662319904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST e 2:3 & AU H g ol nedw gen § # 10 TR ST & e 9% SuTd 35 5T AT 81 390 § el J§%y A @
Options:

1. % 20

2. ¥ B0



3% 40
4 % 50

Question Number : 53 Question Id : 9662319905 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ invested an amount of Bs. 16000 in a fixed deposit for 2 yvears at compound interest rate of 12% p.a. How
rmch armount will he recelve at rmaturity?

Options:

1. % Rs 19,200
Z ¥ Rs 20,0704
2. % Rs 17920

4. % Hs 15,5406

Question Number : 53 Question Id : 9662319905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

K 12% Ui o & Tehdhg = AT oF OF 2 26T o o @i TAr # 16,000 T @ e=wTiat &7 e form aiogar o 39 AT

Options:

1. % 19,200 &4
2. ¥ 20,0704 F0F
. % 17ez0 T

4 # 155406 =04

Question Number : 54 Question Id : 9662319906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ina flight of 1800 krmn, an aircraft was slowed dowr due to bad weather. [ts average speed for the trip was
reduced by 300 km/h and the time of flight was increased by 3 hours. What was the original duration of the
flight?

Options:

1. * 4 hours
2. % 5 hours
3. ¥ 3 hours

4. % B hours

Question Number : 54 Question Id : 9662319906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1800 kon & I H, U &0 S0 A9 & e 8T 57 T om anan & 5 sed efted i 300 St ) ger e el e ot o
TS & g H 3 U T g §T N IS R A et ot

Options:

1. % 42
o % o
3 Vo
4 % g

Question Number : 55 Question Id : 9662319907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

If & can do a work in 24 days and E is twice as efficient as 4. In how many days more will the work be
cormpleted if B joins A on the 22nd day?

Options:
1. % 105
2 % 165
3% 20
4 ¥ z1

Question Number : 55 Question Id : 9662319907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%Tﬁ;} Tot # e @1l @ ST & fRE, A AT §9 21 Al B 22 of o7 A & |rey i 2197 8, 91 9 # feraq foAt @@

Options:
1. % 105
2 % 165
3% 20
4 % 21

Question Number : 56 Question Id : 9662319908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A Band Ccandoa jobin 20, 40 and 48 days respectively. In how many days can & do the work if he is
assisted by B and C every third day”

Options:
1.9 2057
2. 0% 21
3% 21.14
4 % 2014

Question Number : 56 Question Id : 9662319908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A, B 3T C ®ASE 20, 40 3 48 o=t ¥ UFr #19 &% 9d 5 i B 3 C ZWT ¢ § 19 a7 95TaT &1 a1 8, 97 A J9F F19 [
Tt # T # w57

Options:

1. ¥ 2057

2 %21
2% 2114
4 % 20.14

Question Number : 57 Question Id : 9662319909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An error of 4% in excess is made while measuring each side of a square. What is the percentage of error in the
calculated area of the square?

Options:
1. % 404 percent
2. % B5.09 percent



2. % 7135 percent
4 ¥ B 16 percent

Question Number : 57 Question Id : 9662319909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T ol Weier T Bl HIO S 4% STier i Jid 5T 81 a1l o e ol 0T § g2 J 1 uida o 57

Options:

1. % 404 uidea
2. % 509 uidaT
3. % 7135 uidem

4 % 3 16 Uidad

Question Number : 58 Question Id : 9662319910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The slant height ofa right circular cone is 25 cmand the height is 20 crmn. What 15 the total surface area of the

cone? (in cm? taking m=3.14 crr)
Options:

1. % 1777 em®

2, % 1784 cm?®

2. ¥ 1884 cm®

4 % 1888 cm”

Question Number : 58 Question Id : 9662319910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
%ﬂnﬁwm&i@ﬁﬁﬁ@m% Crn 3 FATE 20 Crn 81 39 IF F Tl Gdg F1 STE 747 57 cm? # m=3.14cm

Options:
1. % 1777 cm®

> ® 1784 cm®
2. ¢ 1884 cm®
4 % 1833 cm°

Question Number : 59 Question Id : 9662319911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following table shows the revenue generated by different projects (in 000s) over different years. What is
the average revenue earned {in 000s) from the Project C and D?

Years A B c D
2014-15 120 150 180 130
2015-16 150 200 160 120
2016-17 180 210 190 160
2017-18 200 250 125 180
2018-19 175 225 200 150




Options:

1. % Rs 151andRs. 128
Z % Rs 150and Rs. 130
3. ¥ Rs 171and Rs. 148
4. % REs. 120and REs. 180

Question Number : 59 Question Id : 9662319911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ﬁﬁ;ﬁwﬁﬁﬁaﬁﬁﬁﬁ:ﬁw&ﬁmmsﬁﬁﬁmmaﬁam% Ti=AT C 3 D & 31 St e (000s )
CEANF

aut A H c D
2014-15 120 150 180 130
2015-16 150 200 160 120
2016-17 180 210 190 160
2017-18 200 250 125 180
2018-19 175 225 200 150

Options:

1. % 151 =02t 3w 128 wuer
o % 150 ¥ R 130 7
3 ¥ 171 7 AT 145 B
4. % 120 70 oK 180 w02

Question Number : 60 Question Id : 9662319912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following line graph shows the temperature recorded at different time intervals in a day. What is the
highest percentage increase recorded?
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=

Temperature recorded (* C)
= P
e o

o=

9:00 AM  10:00 AM  11:00 AM 12:00 AM  1:00 PM
Time

Options:

1. ¥ 5 2= percent
= % 9E7 percent
3. % 5E2 percent
4 % 105 percent

Question Number : 60 Question Id : 9662319912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. v 833 ufdeT
2 ® 967 uitaT
3 % SEe2uidaT
4 % 105 uided
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Question Number : 61 Question Id : 9662319913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”
option.

&) The thirteenth century, | (B) inl China as in Burope, | (C) was a period of awalening. | O No error
Options:
1. % A
2 =B
3=
4 ¥ D

Question Number : 61 Question Id : 9662319913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it If the sentence is free frorm error, select the "No error”
Option.

(&) The thirteenth century, | (B) in China as in Europe, | (C) was a period of awakening. | (O No error
Options:
1. % 4
2. % B
I C
4 ¥ D

Question Number : 62 Question Id : 9662319914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "No error”
option.

A A persorn [ met [ (B)in the streets yesterday | () was Yashi's friend. | {C) Mo error
Options:
1.9 4
z. % E
3%
4 % I

Question Number : 62 Question Id : 9662319914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, select the "MNo error”
option.

A A person [ met [ (B)in the streets yvesterday | (C) was Yashi's friend. | O Mo error
Options:
1.9 4



2. % B
3. % C
4 % D

Question Number : 63 Question Id : 9662319915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
REeplace the words in the bracket from the set of options givern.

Jasrmire lived in the towrn (Since) 1997 to 2016,
Options:

1. % from

Z % in

2. # within

4. ® with

Question Number : 63 Question Id : 9662319915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eeplace the words in the bracket from the set of options giver.

Jasrnine lived in the towrn (Since) 1997 1o 2016,
Options:

1. ¥ from

2 % in

3. * within

4. % with

Question Number : 64 Question Id : 9662319916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Replace the words in the bracket from the set of options given.

Lalita spent an hour discussing on Harrlet's character).
Options:

1. % about Harrlet's character.

2. % of Hammlet's character.

2. % in the character of Hamlet.

4 % of the character of Harrlet.

Question Number : 64 Question Id : 9662319916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
REeplace the words in the bracket from the set of options givern.

Lalita spent an hour discussing (on Harmlet's character).
Options:

1. % about Harmlet's character.

Z. % of Hamrlet's character.

3. % in the character of Hamlet.



4. % of the character of Harrlet.

Question Number : 65 Question Id : 9662319917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks with the appropriate word.

My friends were busy, 501
Options:
1. % go

to the college alone.

= ¥ et
3. % gone
4 % going

Question Number : 65 Question Id : 9662319917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blanks with the appropriate word.

My friends were busy, so 1 to the college alone.

Options:
1. % go
2. ¥ went
2. % gone

4. % going

Question Number : 66 Question Id : 9662319918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The questions below consist of a set of labelled parts of a sentence. Cut of four options given, select the most
logical order of the parts which form a coherent sentence.

Flastic bags those

F : polluting therm and

3 reach the s0il and water bodies,
E : are not disposed properly,

5 damaging dependent lives

Options:

1. % ROSP
2. % QRSP
2. % QRFPS
4 ¥ ROPS

Question Number : 66 Question Id : 9662319918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a sentence. Out of four options given, select the most
logical order of the parts which form a coherent sentence.

Flastic bags those

P : polluting thern and

2 : reach the soil and water bodies,
E : are not disposed properly,

5 . damaging dependernt lives

Options:

1. % ROSFP
2. % QRSP
2. % QRFS
4 ¥ ROPS

Question Number : 67 Question Id : 9662319919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which best expresses the meaning of the given word.

EBoisterous
Options:

1. * Sharp
2. ¥ Rowdy
2. % Zalm

4 % Idle

Question Number : 67 Question Id : 9662319919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ot of the four alternatives, choose the word which best Expresses the meaning of the Ziwer word.

Eoisterous
Options:

1. % Sharp
= ¥ Rowdy
2. % Zalm
4. % Idle

Question Number : 68 Question Id : 9662319920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
out of the four alternatives, choose the word which is OFFOSITE in ITEaning to the given word.

Dorrmarnt
Options:

1. # Passive
2 ¥ Active
= % Dead
4 % Asleep



Question Number : 68 Question Id : 9662319920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
out of the four alternatives, choose the word which is OFFOSITE in ITEaning to the given word.

Dormarnt
Options:

1. % Passive
2 ¥ Active
3. % Dead
4 % Asleep

Question Number : 69 Question Id : 9662319921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. Indite

2. Indict

3. Indicte

4. Indit

Question Number : 69 Question Id : 9662319921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly. Choose the correctly spelt word.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. Indite

2. Indict

3. Indicte

4. Indit

Question Number : 70 Question Id : 9662319922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is spelt correctly.

Options:

1. ¥ calendar
2. % calander
3. % calendear

4 % callender

Question Number : 70 Question Id : 9662319922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that 15 spelt correctly,

Options:



1. ¥ calendar
2 % calander
= % calendear

4. % callender

Question Number : 71 Question Id : 9662319923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Pernicious
2. % Perncious
3. # Perncois

4 % Pernicios

Question Number : 71 Question Id : 9662319923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly. Choose the correctly spelt word.

Options:

1. ¥ Pernicicus
= # Perncious
3. * Perncois

4. % Pernicios

Question Number : 72 Question Id : 9662319924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what does the following idiom mean?

Pull yourself together
Options:

1. % Torun out of patience
2. ® Togetangry

2. ¥ To calm dowr

4. # To gotosleep

Question Number : 72 Question Id : 9662319924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Wwhat does the following idiom mean?

Pull yourself together
Options:

1. % Torun out of patience
2. % Toget angry

2. ¥ To calm dowrn

4. % To goto sleep



Question Number : 73 Question Id : 9662319925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the option that best expresses the meaning of the idiom or plirase giverl below,

To cross a bridge before one comes o it

Options:

1. # Toenter a potentially dangerous place or zone

2. % Tomeet and spend time people who are power ful or famous
2. #* To fight a sworn enenty

4 % Toworry about the future in advance

Question Number : 73 Question Id : 9662319925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that best expresses the meaning of the idiom or phrase given below.

To cross a bridge before one comes to it

Options:

1. % Toenter a potentially dangerous place or zone

2. % Tomeet and spend time people who are powerful or famous
Z. % To fight a sworn enenty

4. % To worry about the future in advance

Question Number : 74 Question Id : 9662319926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the alternative which is the best substitute of the
words | sentences.

One who walks on a tightrope.
Options:

1. % Funarmbulist

= % ADnostic

3. # Calligrapher

4. % Apostate

Question Number : 74 Question Id : 9662319926 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
words | senterices.

One who walks on a tightrope.
Options:

1. ¥ Funarrbulist

2. ® Acnostic

2. % Calligrapher

4. # Apostate



Question Number : 75 Question Id : 9662319927 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the most appropriate 'one word' for the ERPIessIoNs giverl below,

A person who loves mankind.
Options:

1. % Anthropologist

2. % Philosophist

=. % Philanthropist

4. % Philologist

Question Number : 75 Question Id : 9662319927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate '‘one word' for the expressions given below.

A& person who loves mankind.
Options:

1. % Anthropologist

2. % Philosophist

2. ¥ Fhilanthropist

4. % Philologist

Sub-Section Number : 2
Sub-Section 1d: 966231455
Question Shuffling Allowed : Yes

Question Id : 9662319928 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehiension

Read the passage carefully and answer the given question:

The Great Depression (@150 know in the K. as the Great Slump) was a dramatic, worldwide econornic
downturn beginning in some countries as early as 1928, The beginning of the Great Depression in the United
States is associated with the stock market crash on October 29, 1929, known as Black Tuesday. The
depression had devasting effects in both the industrialized countries and those which exported raw materials.
International trade declined sharply, as did personal incomes, tax revenues, prices and profits. Cities all
around the world were hit hard, especially those dependent on heavy industry. Construction was virtually
halted in many countries. Farming and rural areas suffered as crop prices fell by 40 to 60 percent. Facing
plurnmeting dermand with few alternate sources of jobs, areas dependent on primary sector industries such as
farming, mining and logging suffered the most. At the time, Herbert Hoover was the President of United States.

Sub questions

Question Number : 76 Question Id : 9662319929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did the Elack Tuesday happen?

Options:
1. % ZEBth October, 1929
oW 29th October, 19259



3. % 28th October, 1927
4. % 29th October, 1930

Question Number : 77 Question Id : 9662319930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich incident is associated with Elack Tuesday”?

Options:

1. % Terrorist attack

2. ® [ncrease in primary industries
3. # Growth of heavy industries

4. % Stock market crash

Question Number : 78 Question Id : 9662319931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
BEv how much did the crop prices fall in rural areas during the Great Depression?

Options:

1. ¥ 400 60 percent
= % 20 to 40 percent
3. % 20 to 30 percent
4. % B0 to 80 percent

Question Number : 79 Question Id : 9662319932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not an example of primary sector industry?

Options:

1. ® Farming

2. % Mining

3. % Logging

4. % Light manufacturing

Question Number : 80 Question Id : 9662319933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the President of the United States at the time of Great Depression?

Options:

1. # Eill Clintorn

= % George H'W. Bush
2. ¥ Herbert Hoover

4. % George Washington

Question Id : 9662319928 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the passage carefully and answer the given question:

The Great Depression (@also knowr in the T as the Great Slurmp) was a dramartic, worldwide econormic
dowrnturn beginning in some countries as early as 1928, The beginning of the Great Depression in the United
States is associated with the stock market crash on October 29, 19239, known as Elack Tuesday. The
depression had devasting effects in both the industrialized countries and those which exported raw materials.
International trade declined sharply, as did personal incomes, tax revenues, prices and profits. Cities all
arcurd the world were hit hard, especially those dependent on heayy industry. Construction was virtually
halted in many countries. Farming and rural areas suffered as crop prices fell by 40 to 60 percent. Facing
plurmmeting demand with few alternate sources of jobs, areas dependent on primary sector industries such as
farming, mining and logging suffered the most. At the time, Herbert Hoower was the President of United States.

Sub questions

Question Number : 76 Question Id : 9662319929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did the Black Tuesday happen?

Options:

1. % 2Bth October, 1929
Z. % Z9th October, 1929
3. % 28th October, 1927

4. % Z9th October, 1920

Question Number : 77 Question Id : 9662319930 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which incident is associated with Elacl: Tuesday”?

Options:

1. * Terrorist attack

2. % Increase in primary industries
2. % Growth of heavy industries

4. % Stock market crash

Question Number : 78 Question Id : 9662319931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev how much did the crop prices fall in rural areas during the Great Depression?

Options:

1.9 40 to 60 percent
2. % 30 to 40 percent
2% 20to 20 percent

4. % E0t0 20 percent

Question Number : 79 Question Id : 9662319932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is not an example of primary sector industry?

Options:

1. * Farrning
2. % Mining
2. % Logging



4. % Light manufacturing

Question Number : 80 Question Id : 9662319933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the President of the United States at the time of Great Depression?

Options:

1. # Bill Clinton

2. % George H'W. Bush
3. ¥ Herbert Hoover

4. % George Washington
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Question Number : 81 Question Id : 9662319934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR ng ®, oW Awedt § 9, 39 THwed @7 a9 & S SUe # &7 2]

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:



1.y
2. TEar
3. AR
4. TATE

Question Number : 81 Question Id : 9662319934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TimiET na # ow et # & 39 e @1 oa9 @ S 3ot & a97 81

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:

1.y

2. Edl

3. TS

4 AT

Question Number : 82 Question Id : 9662319935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT mg §, g Deed § 9, 39 951 Td@wed &1 4= ¢ A7 Iedd o a7 9eg, 8l

Options:

1. % HEW
2 % TEEm
2% TEAE
4 e

Question Number : 82 Question Id : 9662319935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TieiET ng H, oW Sweat § 8, 39 @1 Swetd @7 o0 @ A Uedd | o4 952 gl

Options:

1. % amgmw
2 ® fomm
2% |
4 & e

Question Number : 83 Question Id : 9662319936 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Te T A # ol v ET i e

Options:
1. % Fity
2 % g
I % ammEn
4 ¥ ST



Question Number : 83 Question Id : 9662319936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torr Ty AT | Tk wT T gid R

Options:
1. % it
2 % g
3% S
4. ¥ areaE

Question Number : 84 Question Id : 9662319937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraEET ng §, T Teent § §, 39 oo o7 = o A7 5T o 9 a1 "5 1 Seed 5

13 it gy o it & e
Options:

1. % i R

2. % YT

z. ¥ WU T

4 % Fremticir o

Question Number : 84 Question Id : 9662319937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T ng ®, oW et § 9, 39 Hwed &7 o4 B¢ S T F 9 a1 T Swed 50

£ syrelt TSy T i & g
Options:

1. % iy R

2, ® g

2. o T

4 & Frewlicer T

Question Number : 85 Question Id : 9662319938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T v §, o Teea § 9, 39 feeT &7 909 & S 9ol seg &1 |31 fSded Ta51 g1

o
Options:
1. % 77
o % 27T
3 v
4, ® T

Question Number : 85 Question Id : 9662319938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e v §, o Teenl § 8, 39 fSeen o7 4= o A7 gunRit gee @1 |51 Swed a51 5

o7
Options:
1. % 1g
o % 2
3 o
4 % T

Question Number : 86 Question Id : 9662319939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrfeiaT ng | ow wedt § 9 30 ey 37 o2 o A1 BT Jeg %7 qae 3=aT 99T 8

Ul
Options:

1. % gria
2 % fowar
3. % faam
4. ¥ tiafer

Question Number : 86 Question Id : 9662319939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEcRET ng #, oW el # 9, 39 ey @71 909 @ A1 [Da W J=g B 9949 SR0T [d@ed 3]

UrETe T
Options:

1. ® g
2 ® fumar
3 % fam
4  dafeg

Question Number : 87 Question Id : 9662319940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o g A o Tl w E g drm

Options:
1. % %

o ¥ F
3 ¥ gy
4. ® R

Question Number : 87 Question Id : 9662319940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tomr T e § ol v & O e



Options:

1 % g

o ¥ %
3% TR
4, RN

Question Number : 88 Question Id : 9662319941 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET vg # or et # 4 39 987 Been &1 oa9 F5 S1 aeriat & 90 o g @ B gn

ATt & AT T B HaTAT
Options:

1. % moger

2 % T

3. v Ty

4. ® e

Question Number : 88 Question Id : 9662319941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET vg §, o THeent § 8, 39 98l D@ @7 e @ A7 St o W0 Uw deg @7 dwed g

it & | 7 gt
Options:

1. % moay

2 ® TR

3. ¥ Ty

4. ® TRIFR

Question Number : 89 Question Id : 9662319942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Te T A # ol v ET i e

Options:

1. & T AT
o, % S
3 R F

4. % ST

Question Number : 89 Question Id : 9662319942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tam i e # Tk T 7 gfE
SMTHFEAITS ___ | (TaE=)
Options:

1. & Tt AT



2. % S
3 % F
4 ® FdT

Question Number : 90 Question Id : 9662319943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeET ng §, ow Sweul § 9, 39 [9we0 &1 =09 @ A1 oy 7y e & TR0 g & 99 @ 99 2RET fa@ed 2]

ST 2T THe AT a1 ST = =T 2
Options:

1. % g

2. % gt

3. g

4. ® feef

Question Number : 90 Question Id : 9662319943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafaET g # or et # 4 39 Beew o1 229 @ 51 oy T are & TR g 3 O 9 ge s Hee B

ST =T THe AT a1 2t = =T 31
Options:

1. % wremed

2. % gt

3. g

4. % e

Question Number : 91 Question Id : 9662319944 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # or Twent # 4 39 Beew o7 =09 @ S Ty T are & TR0 g & O 9 Te SmET HweT B

T & T AT T T EETe BN
Options:

1. % wagm

2. % oot

3. % wHepTed

4. " gy

Question Number : 91 Question Id : 9662319944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET v §, T Teen § §, 39 oo @7 =T o A1 50 M7 a1 & W0 g % 9T 9 9 2ReT Hwe 2

T & T T T T EETe BN
Options:

1. % wagm

2. % et

3 % e



4. & gvaamet

Question Number : 92 Question Id : 9662319945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt ng & aw et § 9 39 ey @1 o9 ¢ 91 o mo aeg & B gl & 9 %7 9o argT Beer 31
g femes @ oe w2 5

Options:

1. % fereepef

2 % e

3. ¢ wagel

4 % gt

Question Number : 92 Question Id : 9662319945 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToARET ng & ow Heedt § 9 39 Heey @7 =0 w91 e my aem & B gi 9 91 9ad et Bee Bl

e TERnag & =1 U=T § I
Options:

1. % Tereapef

2. ® gararef

3. ¥ dgrf

4. ® Tt

Question Number : 93 Question Id : 9662319946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 9662319946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeRaT ve 8, o et # 9, 39 ooy 7 gom &4 7 750 70 geras @7 et orf are ey o

T ZTeT & AT
Options:
1. * AT A



Question Number : 94 Question Id : 9662319947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 94 Question Id : 9662319947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 9662319948 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 9662319948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Sub-Section Number: 2
Sub-Section Id: 966231457
Question Shuffling Allowed : Yes



Question Id : 9662319949 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 9662319950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 97 Question Id : 9662319951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 98 Question Id : 9662319952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 79T T TIET a2 S
2 % FEATAEN

%, & T T T 9T T EN
4. % T gk W g1 A

Question Number : 99 Question Id : 9662319953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 100 Question Id : 9662319954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 9662319949 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 9662319950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 97 Question Id : 9662319951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 9662319952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 99 Question Id : 9662319953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 100 Question Id : 9662319954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 1
Sub-Section 1d: 966231458
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9662319955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Supervision is:

Options:

, = tuming upwards

- w lying on one side

5  verbal encouragement and observation with the task

4 = lying down in a dorsal position with a pillow under the head

Question Number : 101 Question 1d : 9662319955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 9662319956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Dryness of the mouth is also called:
Options:

, = glossitis

> % stomatitis

5 » turgidity



4 « Xerostomia

Question Number : 102 Question Id : 9662319956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question Id : 9662319957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An example of politico-economic factors that may affect maintenance of a safe environment are:

Options:
1 « finances

- % anxiety

- % smoking

4 % beliefs

Question Number : 103 Question 1d : 9662319957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 9662319958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A body fluid found in joints is called:

Options:
. w peritoneal fluid

- « synovial fluid

- u cerebrospinal fluid

4 % amniotic fluid

Question Number : 104 Question 1d : 9662319958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 9662319959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The reason for regular practice of hand-washing techniques in hospitals is for the:

Options:
, w Dprevention of posture related degenerations

- « Drevention of cross-infection

- u Dprevention of attitude related sickness



, w maintenance of oral hygiene

Question Number : 105 Question Id : 9662319959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HTTTTET F g O I T & SaiET 3T F oY F3T FeoT 27

Options:

| % HTHS FEMT e & fHaror

> v IR THAUT & HaRo
. » FEEed Faet SAd AR

4 % FITQ® TTTodl & @@

Question Number : 106 Question Id : 9662319960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The extra-cellular fluid content in our body is around:

Options:
1 % 3 litres
> % 6 litres

3z % 9 litres

4 « 12 litres

Question Number : 106 Question Id : 9662319960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 9662319961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Voice box is another name for the:
Options:

| larynx

> % pharynx

- % Oesophagus

4 % stomach

Question Number : 107 Question Id : 9662319961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id ;: 9662319962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

New-born babies generally require sleep for about:
Options:

; w ©6hoursaday

» % 9hoursaday

- # 12hours aday

4  16hours aday



Question Number : 108 Question 1d : 9662319962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 9662319963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The amount of water excreted as urine per day is about:

Options:
1 % 100ml

> % 500ml
=z % 1000ml

4 « 1500ml

Question Number : 109 Question Id : 9662319963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 100 ml

- % 500 ml
- % 1000 ml

4 « 1500 ml



Question Number : 110 Question Id : 9662319964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Heat stroke usually occurs at temperatures around:

Options:
| % 35-36°C
> % 36—37°C
3 % 38—40°C
4 o 41-42°C

Question Number : 110 Question Id : 9662319964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, = 35 & 36°C

> » 36 ® 37°C
- % 38 ¥ 40°C

4 v 41 | 42°C

Question Number : 111 Question Id : 9662319965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The neurotransmitter that decreases feeding is:

Options:
| « leptin

endorphins
= % cortisol

4 # ghrelin

Question Number : 111 Question Id : 9662319965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 9662319966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The energy liberated from each gram of carbohydrates is:

Options:
1 « 4.1 calories

- % 9.3 calories
3 % 6.2 calories

4 % 8.3 calories

Question Number : 112 Question Id : 9662319966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 113 Question Id : 9662319967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Excess bilirubin in the plasma causes:



Options:
; % Cyanosis

> o Jaundice

5 = Cystic fibrosis

4 % Leukaemia

Question Number : 113 Question Id : 9662319967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question 1d : 9662319968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hepatic coma is due to the elevated plasma levels of:

Options:
, = amylase
5 o ammonia

= % albumin

4 % adenosine

Question Number : 114 Question Id : 9662319968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id : 9662319969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Secondary bile acid is:

Options:
1 % taurocholate

> % cholic acid
3 o lithocolic acid

4 = chenodeoxycholic acid

Question Number : 115 Question Id : 9662319969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 9662319970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An essential component of glutathione peroxidase is:

Options:



1 « selenium

- % copper

= % Zinc

4 % Inanganese

Question Number : 116 Question Id : 9662319970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TREIANAT RiFAsH 1 v FfAa ues § :
Options:

lJmﬂ

o % ISl

4#%

Question Number : 117 Question Id : 9662319971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Profound memory problem with no loss of consciousness is called:
Options:

, « transient global amnesia

- u retrograde amnesia

5 % anterograde amnesia

4 = memory loss

Question Number : 117 Question Id : 9662319971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 9662319972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process of converting physical energy into nervous system activity is called:

Options:
, = Teceptor potential

> o transduction

- % generator potential

4 # kinesthesis

Question Number : 118 Question Id : 9662319972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 119 Question Id : 9662319973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Techniques that enable individuals to project their internal feelings, attitudes, needs or values on a test stimuli and in the

process unconsciously reveal their personality is called:

Options:



hypnosis

,_.
4

- % reinforcement

relaxation technique

L
5

4  Drojective techniques

Question Number : 119 Question Id : 9662319973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 9662319974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Measures taken to prevent the onset of a disease or a disorder is called:
Options:

. w primary promotion

-  Drimary prevention

- % secondary prevention

4 # tertiary prevention

Question Number : 120 Question Id : 9662319974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Revisit allowed for view? : No
Revisit allowed for edit? : No
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Question Number : 121 Question Id : 9662319975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Health care delivery teams made up of persons from various disciplines who share responsibilities. authorities and

decision making are called:

Options:



, « interdisciplinary teams

5 multidisciplinary teams

- » transdisciplinary teams

, » intradisciplinary teams

Question Number : 121 Question Id : 9662319975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 9662319976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Couples who may be childless by choice are called:
Options:

| % parents

o o dyads

5 » family

4 % pairs

Question Number : 122 Question Id : 9662319976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question 1d : 9662319977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the type of family that is formed when biclogically unrelated individuals, couples or families live together and

jointly carry out family functions.
Options:
, w Heterosexual family

- # Extended family

=  Communal family

4 » Homosexual family

Question Number : 123 Question Id : 9662319977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question Id : 9662319978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A situation in which a family’s or individual’s balance is disrupted, requiring development of new coping strategies is
called:
Options:

1 % ftransition

stagnation
strategies

4 o crisis

Question Number : 124 Question Id : 9662319978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 125 Question 1d : 9662319979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Breast fibroadenomas are usually detected incidentally during clinical or self-examination and are usually located in the:

Options:
| « upper outer quadrant

> = lower outer quadrant

= % upper inner quadrant

4 = lower inner quadrant

Question Number : 125 Question 1d : 9662319979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 9662319980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A dilation and inflammation of the ducts behind the nipple is called:

Options:
, = intraductal papilloma

> o duct ectasia
= % mastitis

4 % fibroadenomas

Question Number : 126 Question Id : 9662319980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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e F 9 T1fgar F oty 3t e #: F4r FEr FEr 27

Options:

| Haarger SREET
5 o TTiger fEEHRor

= # mﬂ-ﬂ

, w PISSIESAEAT



Question Number : 127 Question Id : 9662319981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cancer that has metastasised to other body organs is presented at what stage in classifying breast cancer?
Options:

| % Stage I

5 w Stagell

2 R Stage III

4 o Stage IV

Question Number : 127 Question Id : 9662319981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question 1d : 9662319982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The second stage of labour ends with:
Options:

1 « the birth of the new-born

- % strong uterine contractions

5 % @ sudden gush of dark blood from the vaginal opening

4, = achange in uterine shape from discoid to globular ovoid

Question Number : 128 Question Id : 9662319982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question Id : 9662319983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Kegel exercises as a method of controlling incontinence in women after childbirth and helps to strengthen the:

Options:

. % upper limb muscles

» % chest muscles

- % abdomen muscles

4 « Delvic floor muscles

Question Number : 129 Question Id : 9662319983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
An instrument that measures foetal oxygen saturation directly and in real time is:

Options:
, « foetal pulse oximetry

- u foetal scalp stimulation

= % vVibroacoustic stimulation

4 = ultrasonography

Question Number : 130 Question Id : 9662319984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 9662319985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

History that includes a menstrual, obstetric and gynaecologic history is called:
Options:

, = family history

-  reproductive history

- % sexual history

4 = genetic history

Question Number : 131 Question Id : 9662319985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question Id : 9662319986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the disorder when a single gene in the heterozygous state is capable of producing a phenotype:

Options:
1 % X-linked inherited disorders

- % autosomal recessive inherited disorders
= « autosomal dominant inherited disorders

4 % multifactorial inherited disorders

Question Number : 132 Question 1d : 9662319986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25



Name the investigating procedure which involves taking x-ray pictures of the bare breasts while they are compressed
between two plastic plates.

Options:

, = sentinel lymph node biopsy

- u stereotactic needle-guided biopsy

- » fine-needle aspiration

4  Mmammography

Question Number : 133 Question Id : 9662319987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id ;: 9662319988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Carbohydrates are divided into simple carbohydrates such as:
Options:

1 « monosaccharides and disaccharides

- = oligosaccharides and polysaccharides

5 w proteins and fibres

4 = Aamino acids and enzymes

Question Number : 134 Question 1d : 9662319988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 135 Question Id : 9662319989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many kcal of energy per gram do fats provide?

Options:

Question Number : 135 Question Id : 9662319989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 9662319990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A condition in which there is an inadequate consumption, poor absorption or excessive loss of nutrients is called:



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1 over nutrition
~ malnutrition
= undernutrition

4 €xcess nufrition
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 137 Question 1d : 9662319991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An autosomal recessively inherited disease that has been mapped to chromosome llq is called:

Options:
1 % mneurofibromatosis

- % tuberous sclerosis
Von Hippel-Lindau disease

S

4  Ataxia-telangiectasia
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Question Number : 138 Question Id : 9662319992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A chronic infectious disease caused by the mycobacterium tuberculosis is:

Options:
1 « tuberculosis

- % bronchitis

- % pneumonia

4 % brucellosis
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Question Number : 139 Question Id : 9662319993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The administration of all or part of a pathogen or preformed antibodies to elicit an immunological response that protects

from disease is called:
Options:
1 # Wvaccination

> % seroconversion

- % Seroprotection

4 + Immunisation
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Question Number : 140 Question Id : 9662319994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rectal medications are typically supplied in the form of:

Options:
1 & suppositories

> & liquid

=z # crushed tablets

4 = opened capsules
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Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
Nasally administered medications are typically:



Options:
, = inliquid form

- o drops

= % crushed tablets

4 # Opened capsules
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Question Number : 142 Question Id : 9662319996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Subcutaneous (SQ) administration distributes medication into the:

Options:
, = epidermis

- % muscle
-  fatty layers

4 ® Venous

Question Number : 142 Question Id : 9662319996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HIETAT (SQ) alF F H gar & T s g

Options:



Question Number : 143 Question Id : 9662319997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An acute respiratory disorder characterized by paroxysmal cough (whooping cough) and copious secretions is called:

Options:
1 % scarlet fever

- u diphtheria

- ® tetanus

4 « Dertussis

Question Number : 143 Question Id : 9662319997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 9662319998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Current recommendations for first mumps immunisation is between:

Options:



1 #% 8—11 months
> o 12— 15 months
= % 16— 18 months

4 % 2—4years
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Question Number : 145 Question Id : 9662319999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A process that occurs when a proximal segment of bowel ‘telescopes’ into a more distal segment. causing oedema,

vascular compromise and ultimately, partial or total bowel obstruction is called:
Options:
. = Deptic ulcers

- w gastroesophageal reflux

appendicitis

4 « Intussusception
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Question Number : 146 Question Id : 96623110000 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(Gas gangrene is associated with:

Options:
, « clostridium perfringens

> % clostridium tetani

- » clostridium novyi

4 % clostridium histolyticum
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Correct Marks: 1 Wrong Marks: 0.25
g e % WY T g &

Options:

i | Y
| FOIEIETR Rihid

. FAEETH AT

2
o FOATEISIH =T
, « FAIEISIA RErefasa

Question Number : 147 Question Id : 96623110001 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Spherical-shaped bacteria are called:



Options:
1 % bacilli

> o cocci
%z % vibrios

4 = spirilla
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Question Number : 148 Question Id : 96623110002 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bacteria which derive their energy from sunlight is called:

Options:
, = chemotrophs

- u autotrophs

-  Phototrophs

4 = heterotrophs
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Question Number : 149 Question Id : 96623110003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An example of moist heat is;

Options:
, w» faming

- % incineration
= % hot air oven

4 « Steamunder pressure
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Question Number : 150 Question Id : 96623110004 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The innermost layer of the heart is called:

Options:



. w serous pericardium
fibrous pericardium
myocardium

4 + endocardium
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Question Number : 151 Question Id : 96623110005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The vibration of valves and ventricular walls during the second phase of ventricular filling when the atria contracts,

produces the:
Options:
1 % first heart sound

- % second heart sound
= % third heart sound

4 « fourth heart sound
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Question Number : 152 Question Id : 96623110006 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inflammatory mediators NOT involved in the pathogenesis of asthma is called:

Options:
1 « adrenaline

- u prostaglandins

% % leukotrienes

4 % histamine

Question Number : 152 Question Id : 96623110006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 153 Question Id : 96623110007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The accumulation of pus in the pleural cavity is called:



Options:
. hydrothorax

DR

-~ % pneumothorax

= % hemothorax

4w Cmpyema
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Question Number : 154 Question 1d : 96623110008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The removal of fluid from the pleural sac to drain fluid or identify the contents of the fluid is called:
Options:

1 « thoracentesis

- % amniocentesis

5 » Villous sampling

, = Dpericardiocentesis
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Question Number : 155 Question Id : 96623110009 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The structure of the neuron that helps in receiving signals is:

Options:
1 « dendrites

> #% axon
% % terminals

4 = cellbody
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Question Number : 156 Question Id : 96623110010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A stroke is also called:
Options:



, w coronary artery disease

- w peripheral vascular disease
3 « cerebrovascular accident

4 = myocardial infarction
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Question Number : 157 Question Id : 96623110011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Abnormal electrical activities in the brain is detected by:
Options:
. electrocardiogram

e o

-  electroencephalogram

- u electromyogram

4 # nerve conduction study
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Question Number : 158 Question 1d : 96623110012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Paralysis of all the four extremities is called:

Options:
, = monoplegia

» = paraplegia
=  Quadriplegia

4 = hemiplegia
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In lumbar puncture. a spinal needle is inserted into the subarachnoid space between level:

Options:



i & €1—€2

5 o LA—ES
5 % T10-TI2
4 % S4-85
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Infection of the bone is called:
Options:

{ % Osteoporosis

- % osteoarthritis

5  Osteomyelitis

4 % osteochondritis
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Discipline4
Group Number : 9
Group Id: 966231292
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline4
Section Id : 966231407
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 966231461
Question Shuffling Allowed : Yes

Question Number : 161 Question Id ;: 96623110015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The small intestine does NOT involve the:
Options:

1 % duodenum

5« caecum



- ® Jjejunum

4 % ileum

Question Number : 161 Question Id : 96623110015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 96623110016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The marriage of two persons on the understanding that as long as there are no children the marriage may be dissolved
by mutual consent is called:

Options:

1 ¥ EGIﬂpﬂSSlGﬂﬂTE marrlage

. % mnonogamy

- % experimental marriage

4 % exogamy

Question Number : 162 Question 1d : 96623110016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question 1d : 96623110017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a suitable area of study in the scope of sociology?
Options:

1 % Trade

5  Community

- % DBusiness

4 % Education

Question Number : 163 Question Id ;: 96623110017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fFfofa & ¥ Fia TR F g H 3TIF F 39GF &7 g7

Options:
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Question Number : 164 Question Id : 96623110018 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A group of people organized for a particular purpose or a limited number of purposes is known as:
Options:

, =% community



5 @ society

= « assocliation

4 % institution

Question Number : 164 Question Id : 96623110018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:
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Question Number : 165 Question Id : 96623110019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following disease is NOT commonly encountered in children?

Options:
1 « Parkinsonism

> % Measles

- % Whooping cough

4 % Diarrhoea

Question Number : 165 Question Id : 96623110019 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 96623110020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wernicke’s encephalopathy in alcoholics is caused due to:
Options:

1 % fluoride excess

-  thiamine deficiency

5 » Vitamin D deficiency

4 w lodine deficiency

Question Number : 166 Question Id : 96623110020 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 167 Question Id : 96623110021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the study in which the observations or data are referred to for more than one point of time.
Options:

, w» Evaluative study

- % Experimental study



-  Longitudinal study design

4 % Clinical trials

Question Number : 167 Question Id : 96623110021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 96623110022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Burning of coal, oil and other fuels in houses and in factories is called:

Options:
1 # conduction

- % convention
- % radiation

4 « combustion

Question Number : 168 Question Id : 96623110022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 96623110023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most important cause of oral cancer is:
Options:

, « tobacco usage

- % skipping meals

- » unhealthy food habits

4 % Tespiratory tract infections

Question Number : 169 Question Id : 96623110023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id ;: 96623110024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT pathological wastes?

Options:
1 % Human tissues

o  Soiled surgical dressings



- » Blood and other body fluids

4 % Human organs

Question Number : 170 Question Id : 96623110024 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question 1d : 96623110025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The slogan for World Health Day in the year 2012 was:
Options:

; » Make Hospitals Safe in Emergencies

5 % Urbanization and Health - 1000 cities. 1000 lives

-  Aging and Health: Good Health adds Life to Years

4 = Antimicrobial Resistance: No action Today, No Cure Tomorrow

Question Number : 171 Question Id : 96623110025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question 1d : 96623110026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A mild grade of mental deficiency is confirmed when the child has an Intelligence quotient (1)) that varies between:

Options:

, = 20and 30 and the mental age is 8 to 11 years

30 and 40 and the mental age is 8 to 11 vears

40 and 50 and the mental age is 8 to 11 vears

L
51

» 50 and 70 and the mental age is 8 to 11 years

Question Number : 172 Question Id : 96623110026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT HAT & A P Gc H A1 § T T H efo=d HEH (IQ) e F &= g &

Options:
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Question Number : 173 Question 1d : 96623110027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a type of Intrauterine Device (IUD)?

Options:
, = Lippesloop

- « Chemical foam tablets



5 » Copper—T

4 % Multiload

Question Number : 173 Question 1d : 96623110027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id ;: 96623110028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Neonate is a child between the age of:

Options:
1 « 0to4 weeks

- % 5to8 weeks
2 % 91to 12 weeks

4 % 13 to 16 weeks

Question Number : 174 Question Id ;: 96623110028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question 1d : 96623110029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a non-communicable diseases?
Options:

1 # Diabetes

> % Blindness
= % Limitation

4 o Dengue

Question Number : 175 Question Id : 96623110029 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 96623110030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the following diseases, which is NOT a contact disease?

Options:
; = Leprosy

-  Hypertension



s % Ringworm

4 ® Yaws

Question Number : 176 Question Id : 96623110030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 96623110031 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When an epidemic appears simultaneously or successively in more than one country it is called:

Options:
, = sporadic

-  pandemic
- % epizootic

4 % enzootic

Question Number : 177 Question Id ;: 96623110031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question 1d : 96623110032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The start of menstruation is called:

Options:
1 % menopause

> % menorrhagia

= « menarche

4 % oligomenorrhoea

Question Number : 178 Question Id ;: 96623110032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 179 Question Id : 96623110033 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The endometrium becomes thickened and more vascular and glandular during the:
Options:

, = ovulatory phase

-  Secretory phase



- u follicular phase

4 = proliferative phase

Question Number : 179 Question Id : 96623110033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id ;: 96623110034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The structure in females which is homologous to testis is the:

Options:
1 ® uterus

- % fallopian tube

3 % Cervix

4 Ovary

Question Number : 180 Question Id : 96623110034 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Revisit allowed for edit?: No
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Question Number : 181 Question Id : 96623110035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The presence of endometrial tissue outside the normal uterine cavity is called:

Options:
1 « endometriosis

- % menorrhagia

z % amenorrhoea



4 % menarche

Question Number : 181 Question Id : 96623110035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 182 Question Id : 96623110036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a hormonal contraceptive?
Options:

] ® Vasectomy

> % Condoms

- » Cervical cap

4 « Oral contraceptive

Question Number : 182 Question Id : 96623110036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question 1d : 96623110037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The mineral content in the bone can be calculated by:

Options:
1 % X-ravs

-  dual energy x-ray absorptiometry

% % ultrasound

4 % Spectrometer

Question Number : 183 Question Id : 96623110037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g8 H Tias THET Fr T @eT c@ny &1 1 @ar 8

Options:
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Question Number : 184 Question Id : 96623110038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The protozoa causing sexually transmitted diseases is:
Options:
chlamydia

3.9

- % ZONOCOCCUs

% « trichomonas



4 w herpes simplex virus

Question Number : 184 Question Id : 96623110038 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 185 Question Id ;: 96623110039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HIV is NOT transmitted by:

Options:

1 #% intercourse

- » sharing drug needles

5 « Shaking hands

4 % blood transfusion

Question Number : 185 Question Id : 96623110039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question Id : 96623110040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trophoblasts form the:

Options:
, « Dlacenta

> # embryo

% % amnion

4 % ovum

Question Number : 186 Question Id : 96623110040 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 96623110041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The structure that stores genetic information is the:

Options:

; v DNA
> % RNA
3 & mMmRENA

4 % RNA1



Question Number : 187 Question 1d : 96623110041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 188 Question Id : 96623110042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wharton's jelly is found in the:
Options:

, = lungs

> % heart
= « umbilical cord

4 % stomach

Question Number : 188 Question 1d : 96623110042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 96623110043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
During pregnancy. foetal movements begin between:

Options:
1 % 1—4weeks
> % 4—8weeks

z % 10—12 weeks

4 « 16— 20 weeks

Question Number : 189 Question Id : 96623110043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. 1-4 gt
R 4-8 g
- » 10-12 gFd
. v 16-20 EFd

Question Number : 190 Question 1d : 96623110044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The type of pelvis most favourable for normal vaginal delivery is:

Options:
, = android pelvis
-  gyanecoid pelvis

anthropoid pelvis

platvpelloid pelvis

Question Number : 190 Question Id : 96623110044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 96623110045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ninety five percent of foetal presentations are:

Options:

lﬁkeg

- « cephalic
z % breech

4 % shoulder

Question Number : 191 Question Id : 96623110045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 96623110046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
During delivery. placental expulsion comes under:

Options:
| % stage I

5 % stage II

5  Stagelll

4 R stage IV

Question Number : 192 Question Id : 96623110046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question 1d : 96623110047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Plato is known as the Father of:
Options:

1 + Idealism

> % Naturalism
Pragmatism

4 % Realism

Question Number : 193 Question 1d : 96623110047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question Id : 96623110048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A systematic arrangement of the sum total of selected experiences planned by a school for a defined group of students to

attain the aims of a particular educational program is called:
Options:
, = oObjectives

> o curriculum

5 # leaming

4 % evaluation

Question Number : 194 Question Id : 96623110048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 195 Question Id : 96623110049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following is a technique of supervision?

Options:
1 « Reassurance

» u Perceptions

=z % Emotions

4 % Values

Question Number : 195 Question Id : 96623110049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 196 Question Id : 96623110050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Japanese have adapted the principle of human relationship theory which is also commonly known as:

Options:
; % theory A

» w theoryB

5 w theoryY

4  theory Z

Question Number : 196 Question Id : 96623110050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id : 96623110051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a primary research tradition within anthropology that provides a framework for studying the
meanings, patterns. and experiences of a defined cultural group in a holistic fashion?

Options:

, « Ethnography

- = Phenomenology

- » Grounded theory

4 = Survey Study

Question Number : 197 Question 1d : 96623110051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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A statement of the researcher’s expectations about relationships between the variables under investigation is:
Options:
1 research question

-  hypothesis

- w Objective

4 = research design
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Correct Marks: 1 Wrong Marks: 0.25
The chi-square test is a;
Options:

; = descriptive test

- % parametric test

5  Donparametric test

4 = frequency test
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Correct Marks: 1 Wrong Marks: 0.25
The two most frequently used significance levels are referred to as:

Options:
, « alpha

> % beta

gamma

4 % delia
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